Internal Assessment Test I — Nov 2022

Sub: |Dynamics of Machinery Code: | 18ME53
90 Max
Date: os/11/2002 Duration:  mins Marks: 50 Sem: \Y/ Branch: | MECH
Note: Answer all questions
Marks OBE
CO [RBT
Define the following i)Sensitiveness (ii) Isochronism (iii)Hunting of governor 10 |CO3 | L1
(iv)Effort of governor (v) Power of governor
Derive an expression for equilibrium speed of governor. 10 |CO3 | L2

In a porter governor, the upper and lower arms are 200 mm and 250 mm respectively and
pivoted on the axis of rotation. The mass of central load is 15 kg, the mass of each ball is
2 kg and friction of the sleeve together with the resistance of the operating gear isequal to | 4 |03 | 13
a load of 24 N at the sleeve. If the limiting inclinations of the upper arms to the verticals
are 30° and 40°. Find the range of speed taking friction in to account.

The mass of each ball of a Hartnell type governor is 1.4 kg. The length of ball arm of the
bell-crank lever is 100 mm where as the lengths of arm towards sleeve is 50 mm. The
distance of the fulcrum of bell-crank lever from the axis of rotation is 80 mm. the extreme
radii of rotation of the balls are 75 mm and 112.5 mm. The maximum equilibrium speed |  , coz | L3
Is 6% greater than the minimum equilibrium speed which is 300 rev/min. determine

i) Stiffness of the spring and

i) Equilibrium speed when the radius of rotation of the ball is 90 mm.
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